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Gy : 2% wefl | [ Qurgs wHuCuanser : 75

Time Allowed : 2¥2 Hours ] [Maximum Marks : 75
March 2015

Sbleyeny : (1) ey eSlerasEnn sflwurs wFal uSeurd e drenaT ereLGEE

sfluriggs Qardrereybd. Hsaludeld Ganulmluear Sonsé
semarentiLiuTerflb 2 Langurs Csflelsseywn.
(2) e sidag smLY emwuleer W HGL aWHUSHEL LLGTUHSS
Ceuemt(b. LILM&ET euanreuam@ Gludrdld Lwemu@Hdsaib.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor itnmediately.

(2) Use Black or Blue ink to write and pencil to draw diagrams.

@oluy : Qeucilenrggrer epeommy e senerd Carairg.
Note : This question paper contains three sections.
9fley - I/SECTION -1
(wHUGuaiTaer : 15) / (Marks : 15)

G@oluy : () @ulfeler o drer 15 eflamssEnsEn e wellEseaylb. 15x1=15
i) S@Luys Ghllaidar Qar@ssLul@erer wrpm el safld
WBaeyb sflwrer eflenLamwsp CrELSHES (96 L.
Note : {ify  Answer all the 15 questions.
(if) Choose the correct answer from the alternatives given in the brackets.
1. o8 wellgear Corenblug.
(pLbfasT, S@Quissr, edCrelwur, GbHuir)
Primitive man evolved in :
(Africa,” America, Australia, India)
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2. wenpswrs GBI LFeb (pan. ‘
(#allé Apgsa, eumbeuwnrss Agfgsd, smi Cal Qevartiys He&, Cprumef

LU (RESID 2 L enLD&er)
One of the means of indirect transmission of a disease is

(Sneezing, Droplet from mouth, Placenta, Utensils of patients)

3. Bflé camercuss ellengenit SiWsFID Gurg @ser euflwures B sfdng.
(Qeowsgiene, ClevarigGlad, annsCrmenued, gpaverGeur)
If a water soaked seed is pressed, a small drop of water comes out through :

(stomata, lenticel, micropyle, radicle)

4. greugrusaiics meussler ueaf :
(Benrs sLSGSD, 2 araeus sLEGSH, WG Jdlwsmsg sLSgisw,
p&edligaat SL55I50)
The xylem in the plants are responsible for :

(transport of water, transport of food, transport of amino acids, transport of oxygen)

5. SmUUS SBSD eratnepssuu(heug)
(enanl Crrariuenser, &fl, CulGyrellwid, i)
What is called as “black gold”?
(Hydrocarbons, Coal, Petroleum, Ether)

6. oL wissEefllueursd saurflaslLuau@BSHIDd TS Swena
(afedlwid - gpsedimen ; ysedleer - epLrEme)
The mixture of gases used by deep sea divers is

(Helium-Oxygen, Oxygen-Nitrogen)

7. 8y é Pesde edeaflar o drerg. sulfiédr 2 érer bl
(wrdigd Sdleobd, Lrirfls iblen)
Vinegar is present in acetic acid. Curd contains acid.
(Lactic acid/Tartaric acid)
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aThe 2 Carsb UrsTesgLen Csiparaib 2sHE Grsssmeame erany GUII.
upGLlsmer e LIUgDE UwauiD @Qrss soame :
(Ag-5n @res seveweu, Cu-Sn Qres swdheu, Ag-Au QITEsH Gwensu)

Any metal mixed with mercury is called amalgam. The amalgam used for dental filling
is

(Ag-Sn amalgam, Cu-Sn amalgam, Ag-Au amalgam)
pelar Beuifsen i Leuevamuded 2 arer Qgrirsaflen eramenilsms |
(7, 17, 8, 18)

Number of periods in the Modern Periodic table is
(7, 17, 8, 18)

Slyrs.au HCarsors GEbSTaIb WaETrsmsd sLSgHng). G5

-6l STTERILONS SLSSIEDG.

(seMds erevdrrenger / YananriiL| 6TeLEL_TTEISET)

Even though it is a non-metal, graphite conducts electricity. It is due to the presence of

(free electrons/bonded electrons)

2 uifl Qgmfler mIL cafl wmbssmars Gaflré Qewww @eafifl Qsmdadm u
D|ENLD LI & eI .

(afeSlwid, eppL e, subCurefwir, GGerrhen)

The freezing of biotechnology products like vaccines require freezing
systems.
(Helium, Nitrogen, Ammonia, Chlorine)

20 @b e genL_wjeer HWDLGUGe 0.2 A WlenCGarm_Lib 2 (Heursss CHeneuliLi(pibd
Benanpss Ceumur(.

(100V, 4V, 0.01V, 40V)

The potential difference required to pass a current of 0.2 A in a wire of resistance
20 ohms is .

(100V, 4V, 0.01V, 40V)

fCameun’ wenfl erénLig -G BV BL(SLD.

(Bén 2iss Caumur®, Wendper, Wanammpme, Wlsgnr’ L tb)

Kilowatt-hour is the unit of

(potential difference, electric power, electric energy, charge)
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14. e Garss sLgHulle uryd WlaGamiLid igmand soml -8
2 (HEUT&(GLD.
(Qeuliub, gafl, srpsllw, abfreiens)
An electric current through a metallic conductor produces around it.

(heat, light, magnetic field, mechanical force)

15. Sl lurieey gapurlear &l Geduw vweru(H&me.
(@ef Geveiei, @PlEevsten, @Y pa. Geil i)
The defect myopia can be corrected by using a

(Convex lens, Concave lens, Concave mirror, Convex mirror)

9fley - I / SECTION - II
(wdOGuaTser : 40) / (Marks : 40)

@dlly - gGsand @rusl alamssienss faweallsseab. 20x2=40

Note : Answer any twenty questions.

16. @Cr wrdflurer @QrleLwirser, @GCrrCrGsrd el @gh
gédamspseutsdr. @Qupeswrer @rleLwisar @Cr wrHflwren
&CrrGlonGemb aenwlnler sdaangseuradr.

&0 EPILA L smeusemen S@&Hs aunigeng Glanemi(® prpeswiLBSs]

(=) @CGr ovrfflurer @rlenwiser _ (AQupsswrer
@rleLwirser /eas@ellEaslulL. @yl enLwiirser)

(<) @Cr wriflurer @QrieLwirger ____ (CaumurBsiendn
sreruu(eur [ @CGrordfwren oewlmu 2 L WaiTser)

Identical twins are syngeneic with similar chromosomal contents. Natural clones are
those who possess identical chromosomes.

Fill up with the suitable word given in the brackets.
(a) Identical twins are

(natural clones/identical clones)
(b) Identical twins are

(dissimilar to each othér/ similar to each other)
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aeul_Lflenser Gepur B Comiser Qurhsgls.

6u.61600T| smeul_L_LBlewTs6T | @empur_(H Crmuser
1 emeul_L_tolesr A Guf Guf
2 enaui_ L Bleor By e el
3 aneuL_Lblen C f&CsL_ev
4 | eveulLblen D BlEGLrCamSuwm

Match the following vitamins with their deficiency diseases.

S1. No. Vitamins Deficiency diseases
1 Vitamin A Beri beri
2 Vitamin B, Scurvy
3 Vitamin C Rickets
4 Vitamin D Nyctalopia

Gy Gsr@ssuul@erer wells aamlled Jdaamn Ceudsmen
L HUURSSD LEHsa wopGL < LHHL 2, ey GHI&Es.

(=) BSTHD 2 ammd UGS

(1) Lreneu 2 aw(Hid UGS

This diagram is of a human brain and the functions of different parts are given below.
Mark A and B in the parts of the brain corresponding with the function.

(A) Seatof smell
(B) Seat of vision
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Cgriirben oqlua e GarglL @QLms Biriys.
agrréeadler - pEenenn anrrGmer

L Feredlen -

Based on relationship fill in the blanks.-

Thyroxin : personality hormone

Adrenaline ;

Spsai spmser seunrs @mUdear eflurer gahblenar erps)s.

(1) Ppoour Gasear Gansdlamar 2pusd Gsudlamear. S Lr GQsaser
GerGararamear 2 Husdl CFlidleammen.

(<) @S (PLLEmeTD, Qe Grroeameanyhd 2 Husd Celidng.

Correct the statements if they are wrong,.

(a) Alpha cells produce insulin and beta cells produce glucagon.

(b) Ovary produces eggs and Androgen.

QarGssuucDearer UL Seng cuanfhg SRS UTSREmETs @Hlése .
(31) er&emnenen

(=) Grems Bluysafiwe

Redraw the diagram and label the following parts :
(a} Exine
(b) Tube nucleus
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22, genmenwufler DU uile) saTLbls.
HOtSeon : Leen ss{HseT

QeueTeumay

Based on relationship, fill up :
Whale : Baleen plates
Bat :

23. psarL. uLmg Bar(Hb cumrbgy SigWllh sar. ursmsaflen gGsabd
Gy urshisemer @Dléseab.
(21) Guemworefilen dlewremntio
(=) GCerm(meveiv
(@) QamenCGaullen cueneray
() CoesM&@d HraTd

000

&

@ ;

Draw the diagram and label any two parts mentioned below :

i
\Y AN\

i

(a) Bowman's capsule
(b) Glomerulus

(c) Loop of Henle

(d) Collecting duct
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24. Garglicupenn Lisd Qels.
(1) Qemmavier : eoLAfiGanrglen ; @rés Seutingmy :
(<) @rés Qeucranemwigm)
Fill in the blanks.
(a) Plasma : Fibrinogen ; RBC :
) WBC:_
25. @urmbsrsas CaibOsd.
e_awe U Lrengullen LigHlser -
(Qsrarent_, eumil, eumLGEY, s@emuLb)
Pick the odd one out.
The parts of the alimentary canal are :

(Pharynx, Mouth, Buccal Cavity, Pancreas)

26. SpsarL eameyd srdldlow Lgss ofl Qelg, sigmear @phnéd GrbLrs
OTH).
watufl - Gmed - swuafysé - Lmbs
Study the food chain below, correct it and convert into a pyramid of energy.

Mulberry — Sparrow — Caterpillar — Kite

27. A@bul Qup Querg euerd earug @ BUhes euarib. BQemen weaflg
misiellen Caussagei e Causwrs Qubms flepeienma wrHmerb.
Copaam sapeon Ligds), sauprast sweag slluramst cranuens 2 mifl G,
seunns Glspere sflwrer spilenerns sap.

A non-renewable resource is a natural resource if it is replaced by natural process at a
rate of consumption by human.

Read this statement and confirm whether it is correct or incorrect. If it is incorrect give
the correct statement.
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e Srmosdley 2008 - 2009 =4 yamga ghul L Ggron Crriuseailer efleurb
el aepuLwrs Gar@Gasuul@erearg. @sewen srbz Crrsdl
Epsar_cundng oS well&sab.

Qg smuFFe

Se@angeatiur

(1) Quepburerer wasemer srédw CrTLGET Wrene?

(<) ereusumryy @65 Crmiser ureydlammen?
The Pie diagram represents a survey result of infectious diseases of a village during
2008 - 2009.

Analyse it and answer the following questions.

Dengue fever
chikungunya

(a) Which diseases affect the majority of the population ?
(b) How are these diseases transmitted ?

gprome  GCsllsds 2geb srgarmsmer  Swsarieunblel by
CarblsHésaD.

(el vaysear, smlly Wer e, @flw B GCLpm, Wen Bi GCLH,
Lmsv e eflerd@aer, Wenargn e oenL )

Pick out the suitable appliances to conserve the electric energy.

(Fluorescent bulbs, copper choke, solar water heater, electric water heater, tungsten
bulbs, electronic choke.)
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2_GUIENIDG SHDTEME, Falpd sHenTaadladlmbg Coumu(hss:s.
Djstinguish between the true solution and colloidal solution.

20 dlgmbd Fenowied 201y 50 Syrd Fllé senrbdlpbare issmrsd ablellen
g6 Blenmanius samsdl(Hs.

Find the concentration of solution in terms of weight percent if 20 grams of common
salt is dissolved in 50 grams of water.

EpssanL. e srremmisaicdlmbg mGsrGLirl, glaruriaamer @eniwramd
ST,
A0 35 40 37
1817 177, pCa™, 45Cd
From the given examples form the pair of isotopes and the pair of isobars.

A0 3 W0 o7
1sAT 147G, pCa™, 7K

(1) samemmdLds sdamaé @HuBHssnCurg
(<) Qusatdin Brereneus srodle erflE@bGurg).
arigeuangiren Geudl eflanenser BHlHpd?

What type of chemical reaction takes place when :

(@) lime stone is heated
(b) a magnesium ribbon is burnt in air.

Qurmsss:
. o NGEEL AT
6L.6TEUOT |  PLPEVMIGETT o
Ibleormsen
1 2 Gler 2EEVTENE 2 Bleuid
2 ergudlFens  |Lrrmfls oifleon
3 Hyrl_eng Wwredld oulewd
4 s&aafl ALMNE Sdled
Match the following :
Sl. No. Source Acid present
1 Apple Oxalic acid
2 [Lemon Tartaric Acid
3 Grape Malic Acid
4 Tomato Citric acid
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@by @ HCI womid i H,S0, 2 Ler eflavanyfflmgl. o,amréd i
HNO; 2 L6t ellenarifleug) Qaveme. o flw srrawdgLen 2 6 efleni_ani eT(pg)is.

[ron reacts with Con.HCl and Con.H;50,. But it does not react with Con. HNO,,.
Suggest your answer with proper reason.

agilafiugdlen Lwenser Grag.enars gay.

Write any two uses of Aluminium.

Spsarand Corwbismer gt elmatswd Qer@gduyLem Qurmsss.

61 616007 Comorusen ellenenblgwesd ClgmEd
1 DLDEADTED >C=0
2 2P @an® - OH
3 EL_GLnen ~ COOH
4 smirurgedledld sidleon - CHO

Match the following compounds with their functional groups :

S1. No. Compounds Functional Groups
1 Alcohol >C=0
2 Aldehyde - OH
3 Ketone - COOH
4 Carboxylic acid — CHO

Camg L QL kigsenaer Hlrls.

(<21) eflens

= fleom X pBEsW eraflay o By =

(<) Slgeu eman’ ymer r&basgd vwauBdng ereafld
utb Gy sgeier LwenrL@Eng.
Fill in the blanks.

(a) Force=mass X acceleration, then

momentum = ?

(b) Liquid hydrogen is for rocket, then

is for MRI.

http://www . tamilnaduboard.com
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Spssrapbd shnsald gm Qurmealar HlapCur® Cem_indomrs smbap
TSI,

(=) @8 20 SugLUmL DleTey

(=) @8 @QudQue srre Qaranh BeTssuLBSDS.

(@) Q& e srre Qaran(h) arssuuGEng.

From the following statements write down that which is not applicable to mass of an
object.

(a) It is a fundamental quantity.
(b) It is measured using physical balance.
(c) It is measured using spring balance.

am HGar Syrd Hlenm wppeugid hmers wrHplu@n Curg e &Ew
<phmened sansdl( (@huy @ C=3x10°ms™1)

Calculate the energy produced when 1 kg of substance is fully converted into energy.
(Note : C=3x108ms 1)

EpssTamb sapmseiies seum @mobard sfl Cews.

(1) Smps HOD epod TaTug @i G Blonsd Gonhps ey Gaume
Qs galguig).

(@) e uCUTéEss sigw algelld o der Bpmena Wem@b, W@ HIrd
Ut (RSSHe0mD.

Correct the mistakes, if any in the following statements :

(a) A good source of energy would be one which does a small amount of work per
unit volume of mass.

(b) Any source of energy we use to do work is consumed and can be used again.

1.5 V flaraflwé@eieans Garar @@ Wensweanser 5 @b, 10 @b, 15 @,
Bergenser wHMDL sredl Qeunamnsd Carigrss Deraml. @ sHmU
UL SSne auenys.

Draw the schematic diagram of an electric circuit consisting of a battery of two cells of

1.5 V each, three resistance of 5 ohm, 10 ohm and 15 ohm respectively and a plug key
all connected in series.
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Weeumbd eursdlwge Genwpsaflpuben Hmsse b,
(1) sTHsULW erewr UL LLHID CaramL oemey.

(=) s1Hs Naves Carhiser srbs Csean (peaamuifle Ggm_kidl euL penamulis
P LD.
Correct the mistakes, if any, in the following statements :

(a) Magnetic field is a quantity that has magnitude only.

(b) The magnetic field lines emerge from the south pole and merge at the north pole.

SssaLeunenns GHGEL samerflan LrshismeT 6T(Hs)s.

(21) s ureveuenwd SLHUUBSSHID QHETL FensFuUL LD

(<2 samanfico Gummaeflen Gibub 2 a@rLrEgh Lriy

From the following description write down the names of the parts in human eye.

(a) Dark muscular diaphragm that controls the pupil.

(b) The screen where the image is formed by eye lens.

ewGurlwr eranug sameatley gafl allasdia ghuin HlLl urrameud
Geopur® AGWL. QIS G@DueTaTaurser malgieTer GlummeTsHmeTs
Qgefleurs urissarbd, sflwurear Hoeyerer @WEaaa Garar® @& Gampenus
&l Qaiweomb.

(24) @G euanswiren Goum Qe cuanss GanpUTHIS®ETs GNHIUAMHS.

(<) Seupenn &fl Ao digsans 2 aisgs.

You know that myopia is a common refractive defect of vision. Person with this defect
can see only nearby objects clearly. Using concave lens of suitable power this defect is
corrected.

(a) Mention other two types of defects like this.

(b) Explain how we can correct it.

[ SpLys / Turn over
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Wifley - 111 / SECTION - III
(wHuCluemser : 20) / (Marks : 20)
@Oy = ()  geuleurs uEGHuISHHSIL @ eNer cish HrewE cllaTméssEhss
elen_weflg&seylb. 4x5=20
(i) qeauGeurm ellarelh@o mibg wHLQUETEET
(i) Cameuwrer @Lmisella LLD cuars.
Note : (i) Answer any four questions by choosing one question from each part.

(i) Each question carries five marks.
(ili) Draw diagrams wherever necessary.

u@3 -1/ PART - 1

46. 2.0f Qasmflédr mLuelwdlen LweaTUTHSMET 6T(PGIS.
What are the various applications of Bio Technology. Explain.

47. amser uEHe wGaflwr Lurel 2 drerg.
(=) @serans s_QUUESS o LEdudar 2 flu APaRTEEHES 5655
2, COTFMET CULPMEIES.
(=) wGaflwrellen sfwrenr Crmis H@Hullenan CaiHblsHSE o (Wes.
(@aflt, BE&sL wHMD sHmaTLEsD, Gugl)
There is a widespread outbreak of malaria in your area.
(a) Suggest some controlling measures to the local authorities concerned.

(b) Pick out the right symptom for malaria.
(Chill and Shiver and a rise in temperature, Diarrhoea)

U@ - 11/ PART - 11
48. &G sreurmisalle BerL Llumb Lredlarlblumss pemuldle mHiuhin G e
Blapeysener er(pgis.
(=) s Blawey wHmIb Seunildr eumssamar alleufl.
(<21) sigaflen BETnD SENDEENET GT(LPSIS.
Write the two events involved in the sexual reproduction of flowering plants.

(a) Discuss the first event and write the types
(b) Give advantages and disadvantages of that event.
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2 msErmLw u@dullea B sl.Guurlgeard waisd euduymndHpriser.
sranCGeu Birg s QLN g enen s6lTés eranQenenen (PepHEEET nsITEH6S T&HeT?
In your area there is scarcity of water and due to this people are affected. So, what are
the measures to be taken by you to meet out the scarcity of water.

U@ - 111 / PART - III

(=) wanl rgaien oamiblen 1 &, oseligaian oanblen 16 £, erafer, Bflan
Slgmb eposaam Hleopenw semsS[Hs.

() uLeurmaseflar sl Lawimu  Hrarbsen oligeiinEh
epadsam&@d 2 arer GCaumurhisear gGaenb ppendlener 6r(Lpgis.

(a) Calculate the gram molecular mass of water from the values of gram atomic
mass of hydrogen and of oxygen.
Gram atomic mass of hydrogen=1 g
Gram atomic mass of oxygen=16 g,

(b) Atoms and molecules are the building blocks of matter. List out any three
differences between them.

Geameumeuanaupdlen QurgiG@uuit whmn TUPAC Quwfsemer 6r(ps)s.

(<21) CH,CH,CHO (<,) CHyCOCH,

(@) CH3~ CII-I—CI'I3 (/) CH4COOH (=) HCHO
OH

Write the common name and IUPAC name of the following :

(a) CH,CH,CHO (b) CH,COCH;,4

(c) CHa—CH-CH, (d) CH3;COOH  (e) HCHO
OH

u@d - IV / PART - IV
(=1) Bl Laflen 1psd Quss effleow aRsmsar HLer eflors@s.

Gm;m
(24) F= _Eli—lsrshu@ By Leflen riudwed NHulen sanflls augeuld.

By e rirdllwe efldlullenen eurisengsafied er(pg)s.

(a) Explain Newton’s first law of motion with an example.

Gmym,
by F= T is the mathematical form of Newton’'s law of gravitation.

Give the statement of Newton's law of gravitation.

[ $imiys / Turn over
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53. (=) SéERTL LUTSRIGMET LULLD euambsl GHISEaHeLD

Q) u@sH, (i) eNo@sst

(ili) Sersdl (iv) efevglaramid

v) Hevs wrppsGeramd  (vi) 1RCarewmd weg et Carenid

(a) Draw and label the diagram given below :

(i) Incident ray (ii) Refracted ray
(iii) Emergent ray (iv) Angle of refraction
(v} Angle of deviation (vi) Angle of emergence

(=) maurgdlear gaflclosd orar 2.42. gefllfiar dasCassms urmss)
@Q&QerpQpr_fer Gummer wrg)?

(b) The refractive index of diamond is 2.42. What is the meaning of this statement in
relation to speed of light ?

-o00o-
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